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HEFHEZ (100m21Y)

I58 HE Bifp FtE-EREA
£ MR Y] B (t=5cm) 1546 m |(1.8+2.3+2.3) x 100/4.14=154.6
& MR P (t=5cm) 100[ m2
ASHREHE 50| m3 |100x0.05=5.0
ASEMNIEE 118 t |5.0%2.35=11.75
TREEEIE 100 m2
K E I (t=5cm) 100] m2 |®.@

BENS

Ti HE BAf FTEX -
EHEERR LI BT (t=10cm) 1546| m |(1.8+2.3+2.3) X 100/4.14=154.6
£ 2E B P (t=5cm) 58 m2 |(1.2x2.0)/4.14 X 100=58.0
L= R BE R (t=10cm) 42| m2 |100-58.0=42.0
ASFER(ET) 7.1 m3 |2.9+4.2=71

ASTRIE R (t=5cm) m3 [58x0.05=2.9
ASTEH(t=10cm) m3 [42x0.10=4.2
T B E M (t=5cm) 29| m3 [58x0.05=2.9
ASEMNIRE 16.7] t [7.1x2.35=16.7
FREEIE 100| m2
EE I (t=5cm) 100] m2 (@
K& I (t=5cm) 1000 m2 (®.@D.®
HE
IiE HE BAfL & -EREA
L IR Y] B (t=4cm) 111 m  |(2.3+2.3) X 100/4.14=111.1
SRR B R (t=4cm) 100] m2
ASERE 40| m3 |100%0.04=4.0
ASEMNIEE 88| t [40x220-88
EE®IE 100| m2
# B I (t=4cm) 100 m2 [@
&

I58 HE BAfL TE-EhEA
SRR U BT (t=5cm) 1546 m |(1.8+2.3+2.3) x 100/4.14=154.6
£ R P (t=5cm) 100| m2
ASHRIE K 50 m3 |100x 0.05=5.0
ASEMNIEE 118 t |[5.0%x235=11.8
TREEEIE 100 m2
KBTI (t=5cm) 100 m2 |®.®

K ASTRIE

12, M. ZF2 A : L=5.5km
2.5, PP, AILEhE: L=12.0km




